[bookmark: _GoBack]The regression below attempts to find the relationship between the independent variable, the number of hours per day the respondent spends interacting with their children, and the dependent variable, how involved was your family in the sugar writing activity. The relationship between the variables is positive at 0.1236. The parents’ amount of time spent with their children increases by 0.1236 for every unit increased in the involvement of the family members in the sugar writing activity. The finding, however, is not significant (p = 0.576). The R² statistic is 0.009384, meaning the model explains 0.9% of the variation in the dependent variable (family involvement of the activity). Therefore, it is concluded that no relationship can be seen between the amount of time a parent spends with their child per day and the involvement of the family in the sugar writing activity.
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> regressz <- Im(vibv3e, dat
> msunmary (regress2)

Estimate Std. Error t value Pr(>|t|)
(Intercept) 4.6845  1.9653 2.450  ©.810 *
vie 0.1235  0.2147 ©.576  6.568

arent) N

Residual standard error: 2.448 on 35 degrees of freedom
(7 observations deleted due to missingness)

Multiple R-squared: 0.609384, Adjusted R-squared: -6.81892

F-statistic: 6.3315 on 1 and 35 DF, p-value: 6.5684
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